=
<

(0 @) (rad)

1072

a(d cot(d))
=
S
T T T Illllr T
—‘.“_

1072

T T
L]

1073

107 s pod v v Wy

-+++-+-44++++*+++§—+-TQ---

____________ .___+_

107 1 1 2 10
0 TP |oO (PCA t%obeamllnef)
T
—=— DQMstep3 TT_CKF
—e— DQMstep3_TT_default
—+— DQMstep3 _TT_ckfPixelLess

= =
= 1]
5 5]
2 =
= =
< -
> o
=2 =2
3 ©

107}

1072
1072

1‘ fﬁ*i%***ﬂﬂ#:;ﬁH l ------------ 09? i ------------ + ----- :

o
[
o®

iR

—1 2 3 2 3
10 ! TPlp?T (PCA t%obeamliné'p ! TPlp?T (PCA tjbobeamliné'f)

o p/p.)

......... ot

R

—1 : 2 3
10 1 TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


